

A

spherical harmonics (conti.)

$$\vec{L} = \vec{r} \times \vec{p} = \vec{r} \times \frac{\hbar}{i} \vec{\nabla}$$

$$= \hbar \begin{pmatrix} i \sin\phi \\ -i \cos\phi \\ 0 \end{pmatrix} d\theta + \hbar \begin{pmatrix} i \cos\phi \cot\theta \\ i \sin\phi \cot\theta \\ -i \end{pmatrix} d\phi = \begin{pmatrix} L_x \\ L_y \\ L_z \end{pmatrix}$$

だから、

$$\begin{cases} L_+ = L_x + iL_y = \hbar e^{i\phi} (d\theta + i \cot\theta d\phi) \\ L_- = L_x - iL_y = \hbar e^{-i\phi} (-d\theta + i \cot\theta d\phi) \\ L_z = -i\hbar d\phi = \frac{\hbar}{i} d\phi \end{cases} \quad \text{と}\bar{\text{ら}}\bar{\text{る}}。$$

$Y_{lm}(\theta, \phi) = \Theta(\theta) \Phi(\phi)$  : spherical harmonics とし

$$\begin{cases} L^2 Y_{lm} = \hbar^2 l(l+1) Y_{lm} & \text{--- ①} \\ L_z Y_{lm} = \hbar m Y_{lm} & \text{--- ②} \end{cases}$$

② は  $\frac{\hbar}{i} d\phi \Phi = \hbar m \Phi \rightarrow \Phi \propto e^{im\phi}$

さらに  $\Phi(\phi+2\pi) = \Phi(\phi)$  となる  $e^{i2\pi m} = 1 \rightarrow m: \text{integers}$

規格化して  $\int_0^{2\pi} d\phi |\Phi|^2 = 1 \rightarrow \Phi(\phi) = \frac{1}{\sqrt{2\pi}} e^{im\phi}$  とする。

$$L_+ [e^{im\phi} f(\theta)] = \hbar e^{i\phi} (e^{im\phi} f'(\theta) + i \cot\theta (im) e^{im\phi} f(\theta))$$

$$= \hbar e^{i(m+1)\phi} (f'(\theta) - m \cot\theta f(\theta))$$

$$\therefore \frac{d}{d\theta} = \frac{d(\cos\theta)}{d\theta} \frac{d}{d(\cos\theta)} = -\sin\theta \frac{d}{d(\cos\theta)}$$

$$\frac{d \sin\theta}{d \cos\theta} = \frac{d(1-\cos^2\theta)^{\frac{1}{2}}}{d \cos\theta} = \frac{1}{2} (1-\cos^2\theta)^{-\frac{1}{2}} \cdot (-2\cos\theta) = -\frac{\cos\theta}{\sin\theta} = -\cot\theta$$

と使う

$$= h e^{i(m+1)\phi} \left( -\sin\theta \frac{df}{d\cos\theta} + m f(\theta) \frac{d\sin\theta}{d\cos\theta} \right)$$

$$\left( z = z'' \frac{d}{d\cos\theta} (\sin^{-m}\theta f) \right)$$

$$= \sin^{-m-1}\theta \frac{d\sin\theta}{d\cos\theta} f + \sin^{-m}\theta \frac{df}{d\cos\theta} \quad \text{はの } z''$$

$$= -h e^{i(m+1)\phi} \sin^{m+1}\theta \frac{d}{d\cos\theta} (\sin^{-m}\theta f(\theta))$$

$$\text{はの } z'' \cdot L_+ [e^{i2m\phi} f(\theta)] = L_+ (-h e^{i(m+1)\phi} \sin^{m+1}\theta \frac{d}{d\cos\theta} (\sin^{-m}\theta f(\theta)))$$

$$= (-h)^2 e^{i(m+2)\phi} \sin^{m+2}\theta \frac{d}{d\cos\theta} (\sin^{-m}\theta \sin^{-m}\theta \frac{d}{d\cos\theta} (\sin^{-m}\theta f))$$

$$= (-h)^2 e^{i(m+2)\phi} \sin^{m+2}\theta \left( \frac{d}{d\cos\theta} \right)^2 (\sin^{-m}\theta f)$$

$$\text{よ } L_+^k [e^{i2k\phi} f(\theta)] = (-h)^k e^{i(m+k)\phi} \sin^{m+k}\theta \left( \frac{d}{d\cos\theta} \right)^k (\sin^{-m}\theta f)$$

同様 L<sub>-</sub> z

$$L_- [e^{i2m\phi} f(\theta)] = h e^{i(m-1)\phi} \sin^{-(m-1)}\theta \left( \frac{d}{d\cos\theta} \right)^1 (\sin^m\theta f(\theta)) \quad \text{よ } L_+$$

$$L_-^k [e^{i2k\phi} f(\theta)] = h^k e^{i(m-k)\phi} \sin^{-(m-k)}\theta \left( \frac{d}{d\cos\theta} \right)^k (\sin^m\theta f(\theta))$$

とたか' 30

この 4 E A U L z

$$Y_{ee} \text{ は } L_+ Y_{ee} = 0 = L_+ \left[ \frac{1}{\sqrt{2\pi}} e^{i0\phi} (H_{ee}(\theta)) \right]$$

$$\underset{(m=0)}{=} -h e^{i(0+1)\phi} \sin^{0+1}\theta \frac{d}{d\cos\theta} \left[ -\sin^{-0}\theta (H_{ee}(\theta)) \frac{1}{\sqrt{2\pi}} \right] = 0$$

$$z = z'' \frac{d}{d\cos\theta} (-\sin^{\ell}\theta \textcircled{H} e^{i\ell\theta})$$

$$= \ell \sin^{\ell-1}\theta (-\cot\theta) \textcircled{H} - \underbrace{\sin^{\ell}\theta}_{\sin^{\ell-1}\theta \cdot \sin\theta} \frac{d\textcircled{H}}{d\cos\theta} \quad (\because \frac{d\sin\theta}{d\cos\theta} = -\cot\theta)$$

$$= \sin^{\ell-1}\theta (-\ell \cot\theta \textcircled{H} + \frac{d}{d\theta} \textcircled{H}) \quad (\because \frac{d}{d\theta} = -\sin\theta \frac{d}{d\cos\theta})$$

元々:  $\mathbb{R} \subset \mathbb{C}$

$$= -\hbar e^{i\ell\theta} (-\ell \cot\theta \textcircled{H} + \frac{d\textcircled{H}}{d\theta}) = 0 \quad - *$$

$$\therefore \frac{d\textcircled{H}}{d\theta} = \ell \cot\theta \textcircled{H}$$

$$\left( \begin{array}{l} \textcircled{H} = \zeta \sin^{\ell}\theta \text{ " } \textcircled{H} \text{ 形式"} \\ \frac{d\textcircled{H}}{d\theta} = \zeta \ell \sin^{\ell-1}\theta \cos\theta \\ = \zeta \ell \sin^{\ell}\theta \cot\theta \\ = \ell \cot\theta \textcircled{H} \end{array} \right) \quad z'' \text{ 成立 } \mathbb{R} \subset \mathbb{C}$$

規格化  $z''$ ,

$$\int_0^{\pi} d\theta \int_0^{2\pi} d\phi \quad * \quad - 1$$

$$\int_0^{\pi} d\theta |\textcircled{H}(\theta)|^2 \int_0^{2\pi} d\phi = 1$$

$$= |\zeta|^2 \int_0^{\pi} d\theta \sin^{2\ell+1}\theta = 1 \quad \text{Beta f.c. } z'' \text{ " } \textcircled{H} \text{ 形式"}$$

$$\zeta = (-)^{\ell} \sqrt{\frac{(2\ell+1)!}{2}} \frac{1}{2^{\ell}\ell!}$$

$$\underline{Y_{\ell\ell} = (-)^{\ell} \frac{1}{\sqrt{2\pi}} \sqrt{\frac{(2\ell+1)!}{2}} \frac{1}{2^{\ell}\ell!} e^{i\ell\phi} \sin^{\ell}\theta}$$

$$|j, m\rangle = \hbar^{-k} \left[ \frac{(j+m)!}{(j-m+k)!} \frac{(j-m-k)!}{(j-m)!} \right]^{\frac{1}{2}} J_-^k |j, -m+k\rangle$$

ここで、 $m=0, j=l, k=l$  とおくと、

$$|l, 0\rangle = \hbar^{-l} \left[ \frac{l!}{(2l)!} \cdot \frac{0!}{l!} \right]^{\frac{1}{2}} L_-^l |l, l\rangle \quad \text{となる。}$$

$$Y_{l0} = \hbar^{-l} \frac{1}{\sqrt{(2l)!}} L_-^l Y_{ll}$$

$$= \hbar^{-l} (-1)^l \frac{1}{\sqrt{2\pi}} \sqrt{\frac{2l+1}{2}} \frac{1}{2^l l!} \hbar^l \left( \frac{d}{d \cos \theta} \right)^l (\sin^l \theta \sin^l \theta)$$

$$Y_{l0} = (-1)^l \frac{1}{\sqrt{2\pi}} \sqrt{\frac{2l+1}{2}} \frac{1}{2^l l!} \left( \frac{d}{d \cos \theta} \right)^l \sin^{2l} \theta$$

$$= (1 - \cos^2 \theta)^l = (\cos^2 \theta - 1)^l (-1)^l$$

ここで  $P_l(t) \equiv \frac{1}{2^l l!} \left( \frac{d}{dt} \right)^l (t^2 - 1)^l$  : Legendre polynomial  
 と定義すれば、

$$Y_{l0}(\theta, \phi) = \frac{1}{\sqrt{2\pi}} \sqrt{\frac{2l+1}{2}} \cdot P_l(\cos \theta)$$

$$= \sqrt{\frac{2l+1}{4\pi}} P_l(\cos \theta) \quad \text{となる。}$$

$$Y_{lm}^{n \geq 0} = \frac{1}{h} \left[ \frac{l!}{(l+m)!} \frac{(l-m)!}{l!} \right]^{\frac{1}{2}} L_{l-m}^m Y_{l0}$$

$$z = z''$$

$$1) m+k > 0 = \frac{1}{h} \left[ \frac{(j+m)! (j-m-k)!}{(j+m+k)! (j-m)!} \right]^{\frac{1}{2}} J_{j+1, m+k}$$

$$z'', \quad j=l, \quad m=0, \quad k=m \quad \text{と } j+l \text{ である}$$

$$Y_{lm}^{m \geq 0} = (-1)^m e^{im\phi} \sqrt{\frac{2l+1}{4\pi} \frac{(l-m)!}{(l+m)!}} \sin^m \theta \left( \frac{d}{d \cos \theta} \right)^m P_l(\cos \theta) //$$

$$- \frac{1}{h} z''$$

$$m = -m'$$

$$Y_{lm}^{m' > 0} (t) \propto L_{l-m'}^{m'} Y_{l0} \text{ の } z''$$

$$Y_{lm}^{m' > 0} (t)$$

$$= Y_{lm'} = \sqrt{\frac{2l+1}{4\pi} \frac{(l-m)!}{(l+m)!}} e^{im\phi} \frac{d}{d \cos \theta} P_l(\cos \theta)$$

$$= (-1)^{|m|} Y_{l|m|}$$

z'' である